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F-E K %

RN éexq{-ﬁ\ z:%it

1.1 BTFIARER:
(1) |x|<5;
(2) |x—1/<0.01;
(3) |2x —3|<3;
(4) x2*<9;

(5) |x|>A4;

(6) 0<(x —2):<4;
(7)) x| >x;
(8) >

| x
1+ x 1+ x ¢

(9 x| >[x+1];

(10) |x+1] + [x —1] <4;

(11) |x —2| — x| >1;

(12) 3x +2| >5x +1.
1.2 EBHEZR

<x+|x| >2+ x—|x| >2=‘x2
2 - )

1.3 FEH H R IE T FIEE 15
(1) |xyl=x2y;
(2) % x*—2>4x,

2_
2 >4;




3) # lal>1b], m a>b,
1.4 RiE  |ab] <a*+ 0%,
1.5 #E x, Jx*, (Jx ), |x| REHERA.
1.6 1% f(x)y=x+1, px)=x—2, fFHE
lf () + ()| = [f(x)| + |p(x)].
1.7 & fo)=x, px)=x-2, BARER
[fCx)— @) > [f(x)] — [p(x)],

—, REES

_ lx -
flxy= x +

f(2), f(—2), f(O), f(a)9 f(a+b),
p(x)=2""3%
f(x)=arcsinx,

_ 43 _dz
Fo, =0, f(H3), F(—4E). fw.

IS

1.8

I

T

—t

&
R

%

=
it
0o |en

%{7

—
s

G (x)= ; arccosz,

G, G, GW2), G(=13), G(-2).
f(x)=x°+1,

fex®)HfmLfx)]%,

f(x)=x2-3x+7,

f(x+dx), f(x+dx)—f(x),

1
f(x)—?9

1 Rl
t 9

o H oo H

flx+dx)—f(x),



sin X

1.151% f(x)=

1+ cosx ’
it f(5), f(Ea)-
i _ 2 2 5
1.16 & f(t)=2t*+ 7z +T+5t’

i fco=f (L),
1,17 % e(Z)=2Z°-52Z,
WA o(—2Z)=—9(Z),
1.18 &% F(x)=x*+cosx,
W F(x)=F(—-x),
1.19 & y(x)=2sinx—3cosx, JEHF
Yp(x+2nm)=y(x)
Horbn 28,
1,20 % F(x)=e", iEH:
(1) F(x) - F(y)=F(x+y);
F(x)
Fy)
1.21 1% G(x)=lnx, WEBH .
(1) Gx)+G(Y)=G(xy);

2 & Gx) —G<y>=G(%).

(2) =F(x—y),.

1.22 % F(x)=lg(x+1),
iEB  F(y*—2)—F(y—2)=F(y).

1.23 & f(x)=%(0“+G"),(G>O,G=ﬁ1), SER

fCx+y)+ f(x—y)=2f(x)f(y).



1.24

1.25

1.26

1.27

1.28

1.29

1.30

fen=f(

1.31

.3

%

fCy)+ f(—y), HIH
fQx)—=f(=2x)=[f(x)*=[Ff(—x)]%

0, o<x<1,
f(x)=§ L

59 x =1,
1, 1<x<2

fo, f(5), 1, 1(3) 1.

zx’ _1<x<05
q,(x)={ 2, <x<1,
x _1’ 1<x<3’

¢(3)9 (P(Z)y CP(O), lP(O.S), (,'0(_0.5)0

ISiﬂxI ’ le <1,

(x)={
¥ 0, x| >1,

P(1), <p<%), w(—%), p(—2).

flO)=-2, f(3)=5, REMEK
f(x)=ax+b,

f(=2)=2, f(0)=1, f(1)=5, KR KEE &K
f(x)=ax*+bx+c,

HERRE f(2)EXE XA [-5, 5] k, ARHE

%

ii? ) BETER, Hf f(x)=x*—x+3,

f(x) BHEER: f(x+y)=Ffx)+ f(y), WKE

f0)=0, Pf(x)=f(Px) (P RHEZFBEELE).
1.32 RBET 5 B E Ik

(1)

y=J3x%x+4;



_ 1
(2) y= x_Z;
_ 2%
B v= g
1
(5) =1--—J1+x2,
y X
6) y=J1—|x| ;
1
(7) Yy = le _13
8) y=lg(1+x);
(9) y=lg(x+Jx*+1 );
1, 1+«
(10) y—?lg e
(1) y=lg(Jx —4 +J6—x );
— fo¥x 4+ 1
(12) y=J2+x +1g(1_x),
(13) y=/1—x +Jx+1;
(14) y=J@+x)(3—x) ,
(15) y=——~ 4
J2+ x —x?
' 1
(16) y =Jx*—1 + ;
Y Ja— x*
(17) y =log,(log,x);
(18) ':*tg‘x‘;
(19) y =ctg/x;



(20) y =lgsinx;

(21) y=Ilg(1—2cosx);
(22) y =arccos/2x
(23) y =arcsin(2+3%);

(24) y=./3—x +arcsin 3—2x

3
1.33 EANSAILETHEDR 230 B EEHAR
gt* EHE, A (1) HEREBRE IR (2) BFR

M\l—‘ l\)‘b—‘

S =

2 B 7E I X a2

1.34 ToIEHEAR, @3 f(x)5g9 (x)REMA?

(1) f(x)=Inx? g(x)=2lnx;
Jx—1 . x —1
@ fo= in’z*‘ , geo= [Z2L

(3) f(x)= Y x*—x*,  gx)=x¥x—1.
1.35 By =arcsinu, u=e’, v=—/x, R yLE Hx
B R 3K
1.36 BRy=J1+4*, u=sinv, v=log,x, R KyE X}
LGRS
1.37  F5I90% e Kb P 2 5 A 91 55 o 3R S T AR 2

(1) y=J2—x";

(2) y=cos——;

3) vy
(4) y=lgsinx;
B) vy



(6) y=arctg(cose‘ﬁ),
(7)  y=In*lnx?
(8) y=arccos./log,(x*—1) .

1.38 i y=f(x) KEER[0, 1], ]
(1) f(x*); (2) f(sinx);
(3) f(x+a) (6>0);

(4) f(x+a)—f(x—a) (a>0);

B E IR R 47

1.39 & f(x)=

L RO IRAEXR,

1.40 % f(x)=x+1, ¢p<x>=73}x7, K flex)+1].

1.41 & p(x)=x2, y(x)=27,
Rople(a)], ply(x)], ely(x)], vle(x)],

s _ax+b _ lx+m
1.42 % f(x)— xta? QU(x)—'*HYH‘y

H b:c=m:n, iFH flex)]=p[f(x)].
143 & FO=fULfON, £ flx)=atbx,
———

r ik

ﬁzfxm:ahgg%+&&

1.44 XHE—BKF aWEFBRREK, BELEMBREAEN
INF B, RIGITE A BIMAR—LE0M, RELHENER
S58FNFHRB KA EBER

1.45 7E4l| 1(=2) AEN, RASHASEENE BV EAE
ORI ST & RN

1.46 REFEN 10 rH R T EAFETERE, BH @ 6,
EER A, DAHEMNARNB S &, RELBUFHRERAS

7




HBHEERr ZRMEHRXR.

1.47 & M ABEABSHAF OB FW—&, & OM HRE
5 O0MBKEFESFREL, XERMOM=4FTHFEHHE
fir, ik OM WRESKERKBER,

1.48 —Wik{EELED, ERMENBKNS YIS ®EE
BRIEEE, ENRMEKR, SWELL1K/FEEES B R 2
o, BVHEASEEREEXR. ’
1.49 BEA=ABPERIKS B He506, &y REZEFHLZ
Bz, RE=ZABHEHER pWEE, FHREEE.
1,50 XTI B—&/KM, #WK50K, BrmR~ 0 & 1-1 Fr
Ny NTHENEERERP/KEMEE (B HRKE 1), &K
MREEKMERE FFRHRS, EHANEEx, B®aRlig
BB KB B T AT B AR E B AR, FHiEHER
T(x) W= o

1.51 HXEBRN r BERABEA—RER & (0E 1-2), R®%
FERERFZ AR ER, HR a5 E R,

A 1-1

1.52 J& AC=b, & BD=h = ABCh, (IE1-3)
WEEY KLMN, HE&Eidhx, BETZ B pf E ml
sEAxBEE.

1.53 E—EBEE, BHOLLABERLA a—RBBREK
—TREE (LE1-4), REXEAER L BED a BB,

8



B

L ; M
/4é%//x
YA
A K D N
B 1-3 BHo1-4
1.54 —RBERRr, EMITROBE®E (L E1-5), &
BEABER SRS, FHRILEERE K.
1.55 ZERH ABCD (W@ 1-6), EFHES AN AD=a
f1 BC=b(a>b), 5k HB=h, 53| 5E& MN /BH, MN
5TisE AWES AM=x (0<x<a),BHFEBALTEEZMN
ZERER s Foh x R,

b

1.56 BIEAER, EESBIET Ik, 22X, 1X, KE
1, WHME—KEE (WE1-7), BREX

(—ocolx <+o0) EET (A ELK ABELEMETHEE),
REBETINER s HIEE x HE.
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1.57 BAERKNEE (LE1 8~ 111), SHEMNKS
xR

J“\\\\\X
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mo1-8
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B o1-11

=, AYERERNITE
1.58 R T % el B 45 E IR A B A i .
(1) y=x% (—1,0);

(2) y:%" (0,1);

(3) y=2*"1 (0,+0°0);
(4) y=lgx, (0,+00);

) y=sinx, (0,7);

(6) y=ctgx, (09%)!

*1,59 RIFHAE y =2x+sinx FEX[E ( —o0,+00) R HI

14 Ay pA Ak

1.60 % @x), p(O)R&f(x) HRFAMEAL, ERE
PO (0)<yp(x),

M @lex) ISFLf () I<ylyp(x)].

1.61 IEHETHEBhHERAIT R BLRBERK? LR

JEZAF I 18 el B2

11



